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There are 3 apples in a basket. How many apples are there 
in 9 baskets?

A flower has 5 petals. How many petals do 3 flowers have?

There are 4 chairs in a row. How many chairs are there in 
5 rows?
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There are 5 pencils in a box. How many pencils are there in 
9  boxes?

A spider has 8 legs. How many legs do 2 spiders have?

There are                              Legs.
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A book has 6 pages in each chapter. How many pages are 
there in 7 chapters?

There are                              Pencils.

There are                              Pages.
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Q3 A child has 5 marbles. How many marbles do 4 children have?

A cat has 2 ears. How many ears do 8 cats have?

There are 7 ducks in a pond. How many ducks are there in 6 
ponds?
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